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POJ 1765 November Rain
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#include<cstdio>
#include<vector>
#include<algorithm>
#include<cstring>
#define pii pair<int,int>
#define 11 long long
#define pb push back
using namespace std;
const int N= ;
int num[N*2], tot;
struct Point

int x,y;
Point(int x=0,int y=0):x(x),yl(y
Point operator -(Point a Point(x-a.x,y-a.y);

r

struct segment

Point a,b;

double k;

int id;

void init scanf("%d%d%d%sd",&a.x,&a.y,&b.x,&b.y) ,k=(b.y-a.y)*1.0/(b.x-
a.x),num[tot++]=a.x,num|[tot++|=b.Xx;

double gety(double x a.y+k*(x-a.x);;
1INI;
11 water(N/;
bool cmp(segment sl,segment s2 sl.a.x<s2.a.Xx;
vector<segment>v;

struct Node

int nxt,to;
Node(int nxt=0,int to=0):nxt(nxt),to(to
Edges N*2|;

int head[N],cnt=0;
void addedge(int u,int v){Edges|++cnt|=Node(head|ul,v),head ul=cnt;
void dfs(int u

int i=head|u];~i;i=Edges|/i]|.nxt

int v=Edges|[i].to;
dfs(v),water[ul+=water|(v];
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int main

int n;
~scanf("%d",&n
memset (head, -1,sizeof(head) ) ;
memset (water,0,sizeof (water));
tot=0,cnt=0;

int i=0;i<n;i++)1[i].init(),11[1i].1id=1;
sort(num,num+tot);
tot=unique (num, num+tot) -num;
sort(l,l+n,cmp);
vector<segment>().swap(Vv);

int i=0,j=0;i<tot;i++

j<n&&l1jl.a.x<=num[i] )v.pb(l[j++]);
vector<segment>vl;
int top=-1;double maxh=-1;
int p=0;p<v.size();p++

segment s=vip!;
s.a.x==num/1i/&&s.a.y<s.b.y)|]|(s.b.x==num/i/&&s.b.y<s.a.y

int k=n;double maxy=-1;
int g=0;q<v.sizel();q++
viql.id!=s.id&&v ql.gety(num/i]|)<s.gety(num[i|)&&vI[q]|.gety (num[i])>maxy
maxy=v|ql.gety(num(i]),k=v(q].id;
addedge (k,s.id);

s.b.x!=num|i
vl.pb(s);
s.gety(num[i])>maxh)maxh=s.gety(num|[i]),top=s.id;
vl.swap(v);
top!=-1)water[top|/+=num/i+1]-num/i];

dfs(n);
int i=0;i<n;i++)printf("%slld\n",water(i]);
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POJ 1177 & HDU 1828 Picture
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#include<cstdio>
#include<vector>
#include<algorithm>
#include<cstring>
#define pii pair<int,int>
#define 11 long long
#define pb push back
using namespace std;
const int N= ;
const int M=2e4+10;
struct Node

int le,re,num,len,cnt;/00 DO OO0 OOOO
tIM*4];
void update(int idx

tlidx].cnt ;
tlidx|.le=t[idx<<l].le,t[idx].re=t[idx<<1l|1].re;
t[idx].len=t[idx<<1l].len+t[idx<<1]|1].len;
t{idx].num=t[idx<<1].num+t[idx<<1|1].num-
tlidx<<l].re&&t[idx<<1|1].le);

void add(int idx,int 1,int r,int a,int b,int d
a<=1&&b>=r

t[idx].cnt+=d;
t[idx].cnt

t[idx].num=t[idx].le=t[idx].re=1;
tlidx].len=r-1+1;

l==r)t[idx].num=t[idx].le=t[idx].re=t[idx].len=0;
update(idx) ;

’

int mid=(1+r)>>1;

14

b<=mid)add(idx<<1,1,mid,a,b,d);

a>mid)add(idx<<1|1,mid+1,r,a,b,d);
add(idx<<1,1,mid,a,b,d),add(idx<<1|1,mid+1,r,a,b,d);
update(idx) ;
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struct Nodel{int a,bl,b2,d; op/N*2];

bool cmp(Nodel x,Nodel y X.a==y.a)?x.d>y.d:x.a<y.a;
int num[N*2]|;

int main

int n;
~scanf("%d",&n

int tot=0,cnt=0, res=0;
int i=0;i<n;i++

int al,bl,a2,b2;
scanf("%d%d%d%sd",&al,&bl,&a2,&b2) ;
op|tot++|/=Nodel{al,bl,b2-1,1};
op|tot++|=Nodel{a2,bl,b2-1,-1};
num|[cnt++]=al,num|[cnt++]=a2;

sort(op,op+tot,cmp);

sort(num,num+cnt);

cnt=unique(num, num+cnt)-num;
int i=0,j=0;i<cnt;i++

j<tot&&op!jl.a<=numli

int rec=t .len;
add(1, - , ,opljl.bl,opljl.b2,0pljl.d),j++;
res+=abs(t .len-rec);

res+=t .num*2*% (num|[i+1]-num[i]);

printf("%sd\n",res);

POJ 3277 City Horizon
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#include<cstdio>
#include<vector>
#include<algorithm>
#include<cstring>

#define pii pair<int,int>
#define 11 long long
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#define pb push back

using namespace std;

const int N= ;

int numx|[N*2],cntl,numy[N|,cnt2;

struct Nodel{int a,h,d;op/N*2];

bool cmp(Nodel x,Nodel y X.a==y.a)?x.d>y.d:x.a<y.a;
struct Node2{int cnt;1ll len; tIN*4];

void update(int idx

t[idx].cnt ;
tlidx].len=t[idx<<l].len+t[idx<<1]|1].len;

void add(int idx,int 1,int r,int a,int b,int d
1>=a&&r<=b

t[idx].cnt+=d;
tlidx|.cnt)t[idx]|.len=numy|r|-numy|1l-1];
l==r)t[idx].len=0;
update(idx) ;

I

int mid=(l+r)>>1;
a>mid)add(idx<<1|1,mid+1,r,a,b,d);
b<=mid)add(idx<<1l,1,mid,a,b,d);
add (idx<<1,1,mid,a,b,d),add(idx<<1|1,mid+1,r,a,b,d);
update(idx) ;

int main

int n;
~scanf("%d",&n

cntl=cnt2=0;
int i=0;i<n;i++

int a,b,h;
scanf("%d%d%sd",&a,&b,&h) ;
opl[2*i|=Nodel{a,h,1};
op!/2*i+1|=Nodel{b,h,-1};

numx [++cntl]=a,numx[++cntl]=b;
numy [ ++cnt2]=h;

sort (numx+1,numx+1l+cntl),cntl=unique(numx+1,numx+1+cntl)-numx-1;;
sort(numy+1,numy+1l+cnt2),cnt2=unique(numy+1, numy+l+cnt2)-numy-1;;
sort(op,op+2*n,cmp);
1l res=0;

int i=1,j=0;i<=cntl;i++

j<2*n&&op!jl.a<=numx|i
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int h=lower bound(numy+1,numy+1+cnt2,op|j|.h)-numy;
add(1,1,cnt2,1,h,opljl.d),j++;

res+=(numx|[i+1]-numx|[i])*t .len;

printf("slld\n",res);

POJ 2280 & UVA 1606 Amphiphilic Carbon
Molecules
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#include<cstdio>
#include<vector>
#include<algorithm>
#include<cstring>
#include<cmath>

#define pii pair<int,int>
#define 11 long long

#define pb push back

using namespace std;

const int N=1le4+5;

struct Nodel{ll x,y;int r; p[N]J;
struct Node2{ll x,y;double ang; vIN/;

bool cmp(Node2 a,Node2 b a.ang<b.ang;
1l cross(Node2 a,Node2 b a.x*b.y-a.y*b.x;
int main

int n;

~scanf("%d",&n)&&n

int res=0;
int i=1;i<=n;i++)scanf("%lld%slld%d",&p[i].x,&p[i].y,&p[i].r);
int i=1;i<=n;i++

int num=0,tot=0;
int j=1;j<=n;j++
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i==j ;
pljl.r)vitot++]={pljl.x-pli]l.x,pl]j].y-
plil.y,atan2(pljl.y-plil.y,plj!l.x-pli].x)};
vitot++|={pli].x-plj!.x,plil.y-pljl.y,atan2(pli].y-
plil.y,plil.x-pljl.x)};

sort(v,v+tot,cmp);
int j=0,k=0;j<tot;j++

k<j+tot&&cross(v|jl,vikstot] )>=0)k++;
num=max (num,k-j);

res=max(res,num+1);
printf("%sd\n",res);

0;

POJ 3004 Subway planning
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#include<cstdio>
#include<vector>
#include<algorithm>
#include<cstring>
#include<cmath>

#define pii pair<int,int>
#define 11 long long
#define pb push back
#define INF Ox3f3f3f3f
using namespace std;

const int N=505;

const double pi=acos(-1.0);
const double eps=1le-6;
struct Node{double al,a2; q/N/;

int dcmp(double x X<-eps?-1:(x>eps);
bool cmp(Node x,Node y x.al<y.al;
int main
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int t;
scanf("%d",&t) ;
t--

int n,d, res=INF, tot=0;
scanf ("%d%d",&n,&d) ;
int i=1;i<=n;i++

int x,y;
scanf ("%sd%sd",&x,&y) ;
double a;
X== y>0)a=0.5%pi; a=1.5*pi;
y== x>0)a=0; a=pi;

a=asin(abs(y)/sqrt(x*x+y*y));
x<0&&y>0)a=pi-a;
x<0&&y<0)a+=pi;
x>0&&y<0)a=2*pi-a;

double da=asin(d*1.0/sqrt(x*x+y*y));
demp (sqrt(x*x+y*y)-d)<= ;

g/++tot|=Node{a-da,a+da’;

sort(g+l,q+l+tot,cmp);
int i=1;i<=tot;i++

double r=-INF;int num=0;
int j=0,k=1i;j<tot;j++,k=(k+1>tot)?1:k+

double tl=ql[k].al,tr=qlk].a2;
k<i)tl+=2*pi,tr+=2*pi;
demp (tl-r)>0) {num++,r=q/k].a2;
r=min(r,q/k!.a2);

res=min(res,num);

printf("%sd\n", res==INF?0:res);
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